

① a) $2^x \ln z = y \sin(\pi y z)$

$$d(2^x) \ln z + 2^x d(\ln z) = dy \sin(\pi y z) + y d(\sin(\pi y z))$$

$$2^x \ln 2 dx \ln z + 2^x \frac{1}{z} dz$$

$$= dy \sin(\pi y z) + y \cos(\pi y z) \pi [dy \cdot z + y \cdot dz]$$

$$2^x \ln 2 \ln z dx + [-\sin(\pi y z) - \pi y z \cos(\pi y z)] dy$$

$$+ \left[\frac{2^x}{z} - \pi y^2 \cos(\pi y z) \right] dz = 0$$

Eval @ $[2, 1, 1]$

$$0 dx + \pi dy + [4 + \pi] dz = 0$$

Plane: $\boxed{\pi(y-1) + (4+\pi)(z-1) = 0}$

$$b) \quad f = \begin{bmatrix} \cos(\pi t) \\ \sin(\pi t) \\ 2t \end{bmatrix} \quad f' = \begin{bmatrix} -\pi \sin(\pi t) \\ \pi \cos(\pi t) \\ 2 \end{bmatrix}$$

$$f\left(\frac{1}{2}\right) = \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix} \quad f'\left(\frac{1}{2}\right) = \begin{bmatrix} -\pi \\ 0 \\ 2 \end{bmatrix}$$

Linear approx: $f(a) + f'(a)(t-a)$

$$= \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix} + \begin{bmatrix} -\pi \\ 0 \\ 2 \end{bmatrix} \left(t - \frac{1}{2}\right) = \begin{bmatrix} -\pi t + \frac{\pi}{2} \\ 1 \\ 2t \end{bmatrix}$$

$$(2) a) \quad F = \begin{bmatrix} x + yz \\ y + zx \\ z + xy \end{bmatrix}$$

$$DF = \begin{bmatrix} 1 & z & y \\ z & 1 & x \\ y & x & 1 \end{bmatrix}$$

$$\nabla \cdot F = \text{trace } DF = 1 + 1 + 1 = 3$$

$$b) \quad \text{Let } u = xyz + \frac{x^2}{2} + \frac{y^2}{2} + \frac{z^2}{2}$$

$$\text{then } \nabla u = F$$

$$\nabla \times F = \nabla \times (\nabla u) = 0,$$

Because curl (grad) is always 0

Another reason: DF is symmetric.

$$\textcircled{3} \quad \mathbb{R}^3 \xrightarrow{g} \mathbb{R}^3 \xrightarrow{f} \mathbb{R}$$
$$\begin{bmatrix} x \\ y \\ z \end{bmatrix} \mapsto \begin{bmatrix} u \\ v \\ w \end{bmatrix}$$

$$g = \begin{bmatrix} u \\ v \\ w \end{bmatrix} = \begin{bmatrix} y-z \\ z-x \\ x-y \end{bmatrix} = \begin{bmatrix} 0 & 1 & -1 \\ -1 & 0 & 1 \\ 1 & -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix}$$

Chain Rule:

$$\begin{bmatrix} t_x & t_y & t_z \end{bmatrix} = \begin{bmatrix} t_u & t_v & t_w \end{bmatrix} \begin{bmatrix} 0 & 1 & -1 \\ -1 & 0 & 1 \\ 1 & -1 & 0 \end{bmatrix}$$

$$= \begin{bmatrix} t_w - t_v, & t_u - t_w, & t_v - t_u \end{bmatrix}$$

$$\therefore t_x = t_w - t_v$$

$$t_y = t_u - t_w$$

$$t_z = t_v - t_u$$

$$(4) \quad f = 2x - 3y + \ln(xy)$$

$$df = 2dx - 3dy + \frac{1}{xy} [dx \cdot y + x \cdot dy]$$

$$= \left[2 + \frac{1}{x}\right] dx + \left[-3 + \frac{1}{y}\right] dy$$

$$df = 0 \Rightarrow x = -\frac{1}{2}, \quad y = \frac{1}{3}$$

However $\left[-\frac{1}{2}, \frac{1}{3}\right]$ is not in the domain of f) no points off if you didn't notice it

So f has no critical points

Just for kicks, let's pretend that $f = 2x - 3y + \ln|xy|$

Then $\left[-\frac{1}{2}, \frac{1}{3}\right]$ is a critical point of f .

$$Hf = \begin{bmatrix} -\frac{1}{x^2} & 0 \\ 0 & -\frac{1}{y^2} \end{bmatrix}, \quad \det Hf = \frac{1}{x^2 y^2}$$

$$@ x = -\frac{1}{2}, y = \frac{1}{3} \quad \det Hf = 36 > 0$$

So max or min

$$\text{Since } f_{xx} = -\frac{1}{x^2} \quad f_{xx}\left(-\frac{1}{2}, \frac{1}{3}\right) = -4 < 0$$

$\left[-\frac{1}{2}, \frac{1}{3}\right]$ is a local maximum of f .